Mrs.Volynskaya   Alg2  EQUATION  OF  A  LINE    POP-  QUIZ          NAME___________

 USE your Study Guide to answer the following questions:                                                                                                                      
1)   Write the equation of a line in slope-intercept form with a slope, 1/5, and passes through the y-intercept, -5 

Answer ___________________

2)   Write the equation of a line in standard form with a slope, -3, and passes through the point, (0, 7).    
Answer ___________________
3)   Write the equation of a line in slope-intercept form with slope, -2/7, and passes through the point (1, -3).

Answer ___________________
4)   Write the equation of a line in standard form with slope 7, and passes through the point, 
       (-1, 5).

Answer ___________________
5)   Write an equation of a line in slope-intercept form with slope 0, and passes through the point, (7, -5).

 

Answer ___________________
6)   Write the equation of a line in slope-intercept form that passes through the points (-5, 7) and (7, -9).

Answer ___________________
7)   Write the equation of a line that passes through the points, (7, 2) and (7, -7).

Answer ___________________
EXAMPLES:  1)   Write an equation of a line that passes through the point (0, 4) and is perpendicular to 4x + 5y = 25.

Need to find slope.  The slope of the perpendicular line (y = -4/5x + 5) is  -4/5.  Then, take the negative reciprocal which is 5/4.

 m = 5/4,  x1 = 0 and y1 = 4, 
         Substitute     y - 4 = 5/4(x - 0)
                              y - 4 = 5/4x
                              y = 5/4x + 4  
2)   Write an equation of a line that passes through the point (1, 3) and is parallel 
to y = 2x.

Need to find slope.  The slope of the parallel line is 2.  

 m = 2,  x1 = 1 and y1 = 3,  
           Substitute   y - 3 = 2(x - 1)
                               y - 3 = 2x - 2  
                                 y = 2x + 1
    
